Broekx D.l.Y. Project
CNC Router 6050

Designed by Martin Broekx
Project Number CNC-6050 ©Copyright 2012




CNC Router 6050

Material List

Quantity Description Size
Base Assembly
2 Front and Back - Flat Bar Aluminium 630x100x12mm
2 Linear Rail Support - Flat Bar Aluminium 800x100x16mm
9 Work Top - Aluminium Extrusion 836x60x30mm
1 Drag Chain Guide - Angle 830-30x25x3mm
2 SBR20mm Linear Rail 800mm
4 Linear Bearings - SBR20UU
1 1605 Ball screw and Nut
1 Ball screw Nut Housing
1 Set Bearing FK-12 FF-12
8 Socket Head Screws M8x35
8 Socket Head Screws M6x35
12 Socket Head Screws M5X25
48 Socket Head Screws M5X15
X Axis Assembly
1 Top Plate Flat Bar Aluminium 156x150x16mm
1 Bottom Plate - Aluminium 122x150x16mm
1 Back Plate - Aluminium 208x150x16mm
1 Drag Chain Clamp Aluminium Angle 140-25x20x3mm
2 16mm Linear Rail 208mm
2 Linear Bearings - SC16LUU
1 1605 Ball screw and Nut
1 Ball screw Nut Housing
1 Set Bearing FK-12 FF-12
6 Socket Head Screws M8x35
3 Socket Head Screws M6x35
3 Socket Head Screws Countersunk M6x35
32 Socket Head Screws M5X25
2 Socket Head Screws M5X15
Y Axis Assembly
1 Mounting Plate - Aluminium 732x120x16
2 Side Supports - Aluminium 425x165x16
1 Linear Rail Support 700x200x16mm
1 Drag Chain Guide - Aluminium Channel 710 - 30x25x3mm
1 Top Guard - Aluminium Flat Plate 710x230x3mm
1 Drag Chain Clamp Aluminium Angle 96-25x20x3mm
2 SBR16mm Linear Rail 700mm
4 Linear Bearings - SBR16UU
1 1605 Ball screw
1 Ball screw Nut
1 Ball screw Nut Housing
1 Set Bearing FK-12 FF-12
10 Socket Head Screws M8X35
6 Socket Head Screws M6X35
20 Socket Head Screws M5X30
12 Socket Head Screws M5X25
22 Socket Head Screws M5X15




CNC Router 6050

Material List
Quantity Description Size
Z Axis Assembly
1 Mounting Plate - Aluminium 150x136x16mm
1 Spindle Mounting Block 100x48x40
1 Spindle Mounting Bracket 100x48x38
12 Socket Head Screws M5X30
4 Socket Head Screws Counter sunk M5X30
Stepper Motor Assembly
3 Stepper Motors 57BYGH76-602A
3 Stepper Motor Mounts
3 Flexible Couplers 6.34*10
12 Socket Head Screws M6x65
14 Socket Head Screws M5x15

Specification's
Spindle Motor Water or Air Cooled
3 Stepper Motors 57BYGH76-602A

Work Piece Size . . ...................

X Axis 530mm
Y Axis 670mm
Z Axis 100mm

......... 830mm x 630mm
........ 580mm
........ 860mm

....... 970mm




l _ Z _ £ N i | 9
9L 40 L L33HS _ ERASELL AN ZL0Z-1-0L Q3141I00W
SHALIWITTIWN NI 39V SNOISNIWIQ 11V LLOZ-ZL-ZL  NMvdd ¢L0¢ LHDIYALO) @
3ieqg % juoJ4 Iseq v XM3049 NILYVIW
0509-INJ H3IAWNN L1I3rodd 3z1s A8 03NDIS3C
133rodd dOHSMYOM 3JWOH
J9lNoYy "I'NJ ‘AT'@ XM3odg
SIE > SLE
09 09 0
@T o yoeg laseg ‘
# O S 3181 WNUWN)Y Wwz) 2 mmmLO O
0 o —=
NE|/'\® N
KV@ % 8Ly ;
TN o
I X T X I \O I X X I X
X X S X T H X X X X
< 0€9 ™
SIE > SLE
0z 09 09 0z
MT [uoJ4lasegq
# © © 3jeld wnuwnly wwz) cen O ©
XII/V\Q Q
LV@ 1Y
YN
I X X I I X X I X
X X g X X H X X X X
G ——
S _ 0 0 o 0 0 0 0 0 S _
™ o I 0L > 0L g 0L g 0L > 04 > 0L g 04 g 0L =l o€ r
| _ Z _ £ U Y _ S _ 9

m




2 _ 4 _ £ N ki _ S _ 9
9L 40 ¢ L33HS _ §°¢L 3VIS ¢L0Z-1-0L Q3IdIdOW
SYILIWTIIN NI 39V SNOISNIWID 11¥ L10Z-ZL-EL__NMVHO M3l papoldx3 Py ¢L0¢ LHOIYALOD
ley 3pIS % Aemaping Jeaun vy XM3049 NI1YVIW Aiquassy sseg _ L
0509-INJ Y3dWNN 133rodd 3ZI1S A9 Q3N9IS30 <
133rodd dOHSHHYOM 3JWOH 3seq 40 Juolg
491N0Yy "J’'N'J "A''a XM30Hg
~
N N
SEXSW SEXSH
MIYISTTVE WOYd
B ! 1NN 3AOW3Y L1ON 00
Buiuesg seaur]
nnozyes phay &
do| oM
& g 1Joddng ey Jeaury o
v O s O
V|, O 4,
2 = =
MW\M o 7 O 3ie1g wnuwny wwgy s © % ©
S-S o o ;
. 05l e Buizeds wuwgs), 05l 9l
008 [ B
jr_F.LJ
, , [ , , 0F
IT I 7 IT IT -
[ ] S
o ey Jeaur] wwozyds ﬂ ﬁ
1 7




3 | 4 | | S 9
9L 40 E 133HS | [ANERTAS Z1L0Z-1-% Q314100W
SYIALIWITIIW NI 34V SNOISNIWIO 1TV LL0Z-21-8¢ NMVYHO N_\ON HIU_wn_}n_Ou @
wly jJoddns apis 137 oy XM3049 NILHVIW
0509-2ND Y39WNN LJ3rodd | 3zIS A8 03INDIS3A
133rodd dOHSMHOM IWOH
Jainoy "I'N') ‘A1'Q XX3049
9L
|l
00l g 7
- “0e ] =
i
T o
Lw [ i O
Dn..ﬁm ©
591 & - =
m ~
= N -
19 T e
m = r y o
« € I I O\ o
=
o 08 08 T|v
= 5z 2 2
S ¥ I
Y % A 1
i 110
m | A 4
3 NO ] " g 5
®)
Y F---- n ) o
S YW it _ 7 o o
o~ H\ 3
o~
a i ~ @ @ W
] B E
o § U
>
510l L Ly
44 08 oLl
>l
Sil 7 09
|
~
>
aly
L Z _ £ _ g 9




l _ < _ E n i _ 5 _ 9

9L 40 ¥ 133HS | ZiL 3VIS ZL0Z-L-% (Q314100W
SYIALIWITIIW NI 34V SNOISNIWIO 1TV LL0Z-21-8¢ NMvVYd N_\ON ._.IU_W_>0_Ou @
wJy fJoddns apis tuby v XM3049 NILHVIW
0509-IND d3GWNN 133rodd | 3zIS A8 03NDIS3O
173rodd dOHSMHOM 3JWOH
J9inoYy "I'N'D AT’ xXX3049

o /M+ SrAv
Ll g 09
SEZ 08 oLl
o
[ass
W
r\ 11 H
ZIIo3 o~ L a-
« » = T o Q = =
~ 0z rr\ i wml
~ ~ |
m Y SN2 R S 2 S
0N ' A 0 =4
= g o ) < o
" wi g g " - oLl S A
=t ! x W
: b : o o o T ole
[ N @ [ A w .m
T -~ = o
| a ¢ 2 >
oY 08 0 =
- I ]
c ot T v S
g¢l e L_____ A —
0; m
= 591 " < o
m ~
E
S v
Lo 4 )
(=]
~N
,A._

001




3 | 4 | £ N ki 9 | 9
9. 40 5 L33HS | SZ'L 3VIS LL0Z-2L-8Z Q31100W
SYILIWITIIW NI 34V SNOISNIWIO 1TV LL0Z-2L-82 NMvYO MIBQ WOJ) M3IA ¢L0¢ 1HUIHALO] @
jJoddns way 3pis L X33049 NILAVIW :
0509-INJ 939WNN 1J3rodd | 3zIS A8 03INDIS3IA }Joddns ey JesulT A mé/
-~ 38r0dd JOHSMHOM IWOH = = -
J4o]NoYy I")'N m *A'1'a xXx3odg |
= o o o o 4= o o
1 |=---4 w R
m — - - - - - - T " ‘jﬂ‘““‘““‘““““““““‘[0‘“‘_4‘
Y
— o o) o J1- o0
no | -
' o, . 3jB1d WNuwNy wwgj o -
O J— |22II3 z 2 Lo-o- 2
e ——
514
3 S
— o o )Ao 1 o
W I T3 C____
o o |3 o) Y- o0
iv‘|TT T wuwoo, VW
9L
|Joddng wdy 3piIs SE %
Sl
8
|
< O @) 3jeld wnUWNlY wwgy ” @) @)
+— | O K L o O
T 0 )
¥ O 04( o o O O
ol .y zey o
& 1 OA/mAmm N . N.E[/»O K«O
S'Ed
. o o . o
vy O o O
< @) ) © O @)
- |
e e T e
wwze/




| _ 4 _ E n _ S _ 9
9L 40 9 133HS _ S'¢lL JIVIS ¢L0Z-1-8 ({3I4I00W
SYILIWTUW NI 34V SNOISNIWIO 1TV L10Z-2L-8Z  NMvYQ ¢L0¢ LHIIHAdO] @
3ping uiey) beag 3 pseng doj kA4 XM3049 NILYVW "
0509-INJ H3IdWNN L133rodd 371S A9 03NDIS3Aa ¥ I . I
173rodd dOHSMHOM 3WOH ~ . O S0
Jalnoy "I'N’ ‘A1’ XM3odg - B
1IN0y "J’NJ — - -
96
aping uley] beuqg sixy A
0t T._ wwpog VW
8 N @ @ /%/ @ SUISIDIUNO] flV@ 57y I'@
N\
| | - | | \ffm
o > 05l Vd%am wuips) [ > 05l >
LVIW? uieyy beug sixy X
- N
L ~ WY ° °
{ 8 < 6L >t Bupeds wwe/lL - 6LL > g
wuwzes
pJeng do| -
|| i
(o 0 504 ——80 o)
Bupeds wug/l = 6Ll == 6Ll =
8
6
[93US WNuIWMYy WWE
|l o
"
: ] : NS ” —
‘ ! !
Wwze/ 001 o
L T Z T £ U I 5 I 9




L | [4 | E N 7 | S | 9
9L 40 £ 133HS | Z:L 31v3S ZL0Z-1-5 Q3HI00W
SYIALIWITIIW NI 34V SNOISNIWIO 1TV 1102-2¢1-8¢ NMVYYHO N_\ON ._.IU_W_VH_Ou @
sa|eld yieg 3 woijog ‘dol SIXY X v X33049 NILHVW
= ola ol
0509-JND Y39WNN LJ3rodd | 3zZIS A8 03INDIS3O iTW 57T o >
133rodd dOHSMHOM 3JWOH - N
Jalnoy "I'NJ ‘AT’ XM3odg W e 52—
I I
ajeld ¥Ieg sixy X
T_|—LA|VT_|VT_|1 7l_ 77
0z oS oS gl <t ™ o
D D IR s
. O D Oy i+ O| ¢+
| J—} | J—} |
3je)d wWNUWNY Wwg) ™ ajeld doy sixv X
8'2y
A v 9z 86 9z
* o o JAO O A </ o SIEN
~
P _ Ow qu O A -
ajeld woliog sixy X m m
o P 52 96 5 \mu \ SO- -4
8¢y S/ 5. vy \\/ =
i & ? 2|5 WO N0 - “iT o s
S e oV
o O |} &
© O v R VLY
i — X4s| -l
9 A %9 o) (o] Rz
£ W —
o 3je)d wNUWNlY wwg)
S/ = S/ N
o~
4 O O o . O] F ol © .
AN 00l o e 2jelg unuwnly wwgy cEs
s s Q. © |
0 0 0 d |\
O:: O ! o 110 s hiinc3 o
1 1 1 1 I 1 9 wau_
1 1 1 1 1 1 uw
P . O S O |
o o 7L e > > >
>l <t ot 0Z 55 a5 0z
05l 0¢ 55 ! 55 =0z
ma|p do) 05l 05l
r|%|%|ll|l
0¢ 55 55 0z M doL
O
O O o |t . :
W [ 051 - e >
05l
L z E U ¥ _ g _ 9




l l Z l £ n ki I 5 1 9
91 40 8 133HS _ TAERL B ¢L0Z-L-1L (d314100W
SYILIWITW NI 3V SNOISNIWIO 1TV L10Z-CL-8C NMVYd ¢L0¢ LHDIYALO) @
%2019 Buyjunoly 31puids kA XXM3049 NILYVIW
0509-INJ Y3I9WNN L1J3roydd 3ZI1S A9 Q3NDIS3IO0
1J3rodd dOHSMYOM JWOH
J2]lNoYy "I'N' ] ‘AT XM3oya
#2019 Bujunop 19pulds wws9
M3IA JuoJ4 M3\ JUOI4
O Ol & O O &
o moal)o v o @zl}o k2
L bl bl >l ol et
a ™z T e Tzt Ta s | 88 ST
00L 00L
m3alp do| Mm3IA dop
ajeld Buiunol Jajnoy & g N B
T 05 | 0S
= Ve a1 T ] 3
. ) o L 5zey 1
= = [ 1
0 poeg wouy I L | N w LT Lo 5 R
< Suhs Jajunoj © o @ “ “ “ “
O Vgl -
¢ 001 ®
o % M3IA ¥deg M3IA ¥oeg
o O & o Ol 1
o ol v o Tl x
] ol -l -l ol
9 | 88 ST g L2 78 ST
T 00L 00l

0S) |




3 | l | N 7 | 9 9
91 40 6 L33HS _ 91eXS of |ON ZL0Z-L-% (Q31410W
SHILIAWITIW NI 3dV SNOISNIWIA 11V LL0Z-¢L-6C NMvYd N—sON I_._I__U_Nu_>ﬂ_ou @
M3IA p3poidx3 v XH3049 NILUVIN M;%Mmm bm_:_mwm,q SIXY A
0509-INJ 43gWNN 1I3rodd 3z1S A9 03NDIS3A m m Dpom%m
133rodd dOHSMHOM 3JWOH m P ”\\\A ﬁ&% ;
v SN e NN T e Uisnoy
J3a1noy "J'N) A''a XM3odg N ,\V\M,AWNMNVWL NN mMeLIs)eg
pbay 7 S 2
Burseaq Jeaun] ~ <3
Aquassy sixy X NI S |
609 |
W35 (EXSH tog%mgmmm @Q
N MBS, EXON SES
)
aje)d Wopjog $ Q w b
I SM3IIS
b 0EXIN
phay ¢ |
Bueag seau] | f N S
g LGS < 0~ WAL G| Y Jooeds wug), T e o °
384 g ,{/f\\ >3 @\ 0 \ SM3JIG
e ! \,ﬁM\vra/, - Bussnoy ph3y 7 ™~ 0 0EXSW
o TS > RS e ] s °
NIDS 57X %\ R I ANNS 1IN R 183U KE% N f @ —/j
%% j /u\vp/ws/ . ; lo
.- \:\,\ \,N” j = 1ey Buijunoly Aemaping ) )
N = wepy | e
>, a\\\\r\v<ﬁ\\LI e m \ uley) fedq N
T e D s m%% N AN
upy] 3besg % - ] ~ -, Q
Gt AN
_ - - 2 |
P ”
- , 0 /)
N Joddn
537 WISV NOY S : o o
o -~ 710N 3h0A3 Lo 00 hE
J - -
@Hg@m e e
3jelg do] @ °
2 - Lo T~ ~
oy = busnay - = h /% MRS
wnsiapney W AN MeJISTIed ) "~ " SEXBW
SHR5 (EXIN HeS QEXA pb3y 4 - | Se
= %E:._mmm,q SIXY 7 55 0BX I | ~.
) % MIFISTIVE WO I >
P 1NN JAOW3Y 1ON 00 ey bedg = J
% |
ajeld Buyunoy -~
s S e
SM3JIS oqu,,....,
0 , |
|
pbay z1 L,
SM343S OEXSW
=7 > Buisnoy ,X \\”\JJ
sBujeag Jesui] 4N m32sT1Rg //r(ﬁ&/\w\\
nnasLas




3 | l

3 0 Y _ S _ 9

9, 40 0L L33HS | 315 0} JoN

|
ZL0Z-1-El Q3I4I00W

ZL0¢ LHBDIYALO]

SHILIWITTIN NI 34V SNOISNIWIA 1TV LLOZ-21-6Z  NMvYd
M3IA papoidx3 v XX3049d NILYVW
0509-INJ d43dWNN 133r0yd EVAN A8 03NDIS3A

J9{N0y "J'N')

123rodd dOHSMYOM 3WOH

‘AT XX3od4

PE

LSS

Ajgwassy pJeng 3 JOLO

SM3JIS GL XYW
dwe]) uiey) Bey

Jojopy Jaddays

IS SIXIW

_ —am®

NN SM3IIS SLXYIW
| SO
NN AN
N __ —anl
-
=
JUNO JOJOW
. pJeng doj|
SM3JIS SLXYIW
Jojoly Jaddays
SM3JIS SIXIW
3 14 3 U ki I 9 I 9




L _ | [4 | E N 7 | S | 9
9L 40 Ll 133HS ERTAS ZL0Z-L-1 03II00W
SYILIWITIW NI 34V SNOISNIWIO 1TV Z10Z-1-1L  NMvdd L 218dS MaJIs)eg 509 ¢L0C LHDIYALO] @
sbujiesg JeaulT W X3049 NILHVW
0509-IND 43AWNN 1J3rodd | 3zZIS A€ 03INDIS3O wwsel puU3 3AlQ
173rodd dOHSMHOM 3WOH w589
J9lNoY "J'N'J ‘AT XM3049 Ll wuggy, 5.

T

i /
\\

| ¢lL—44 PUB 7L -M4 HNS 0} pSulyien

0L g
]

X

=<
N
N
>

4%

Y
V
5091

Buiieag Jeaun NN9LYgs

¢

wwgl 4

=Y

€E
EE

T T MIIA pu3j
W ! W j j ey Jesul] ww9gLygs

i o 7 e
s - & 77
= o =
uoisnJiX3 wnjuwn)y do] XJom
/ /
2 [/
o\_ N
I
o / /
mJL_A. wwyLg
[ wwyeg
ERA 1By Jesur wwg
, , wwoo, , ,
ve Bupeds wwos, 10K BIg WUS s 05l s 05l G
1] ]/ I i i
o N L4 i . i
v /L
wwsg




L | Z | 3 0 i l S _ 9
9, 40 ¢l 133HS _ Ll 31V3IS ZL0Z-1-1 d3I4Id0W
SHIALIWITUN NI IHV SNOISNIWIA 1V LoC-1-1L NMVY YO N—sON ._.I_D_Nu_fﬂ_ou @
sbuiieag Jeaun Yy XM3049 NILYVW
0509-IN) 43GWNN 1J3r09d | 371S A8 03NDISIO buliesg Jeaun NN19LIS
1J3rodd JOHSMY0M 3WOH M3IA JUOJ4
JaInoy “I'NJ A0 XX3049 maiA do| |
, , A
O O vy ”
| | un
m | ® R u
m m 2
! CL*GIW ” -
~ @ “““ v 0
lw L Ul
A
gzL 09 5zl CL*aW
58 05
MIIA JUOJ
-
Buisesg Jesuil NNOZYES f S¥ f
MIIA JU0J4 W.. cE J k
.09 |
M3l =18 D
IA 9PIS ol i
N
D
___ ___ — _ N\ _ N
— — Lo Lo w
\,\ | T SRAA
— —
GE oW —| GE
05§ 8%
7 Z T 3 U 7 T 5 T 5




l _ (4 _ £ l S _ 9
9L 40 EL L33HS | [ERTAE Z1L0Z-1-1 03IHIO0W
SHILIWITTUIW NI 39V SNOISNIWIO 11V ZLog-L-1 NMvHa N_\ON ._.I_u_~u_>nu_Ou @
sbulieag Jesun EX] X33049 NILYVW
0509-INJ Y39WNN LJ3rodd | 3z1S A9 03NDIS3O /
1233rodd dOHSMHYOM 3JWOH
Jajinoy "I'N') ‘A1'0 XX30oH9
buiiesag apis pajeor4 zL-44 Q
buiieag apIS paxi4 ZL-M
!
9 | 562
;
alr S u
\ /
| W
1T 1 1T EW
[
o I 4
L
L I b4 I £ I g I 9




| | [4 _ n S _ 9
9L 40 %L 133HS | EERAS 210z-L-zL _(03I9I00W
SUILAWTIN NI 399 SNOISNIWD 11V ZL0Z-1-L  NMva0 ZL0Z LHIIYALOD Q@
INN pue ma13slieg 5094 Y XM3049 NILHYW
0509-INJ Y3GWNN 1J3rodd | 3z1S A9 03NDIS3T ) )
Jo
133rodd dOHSHHOM 3JWOH O_\O_\ moo_\ ._woo_\ s
J94NoyY "J'N™J "A'@ xXX3049 buisnoy NN ma4ds)1eg
5091 1NN M9Jas)ied M3IA LU0J4
MIIA 3PIS M3IA {U0J4 g%
05 0% 8€
ol ——
JJJJJJJJ <
Vv ,, Al NS
N __ // _—/
oo IR !
L3505 53
- 0¢*GIW
M3lA do|
-
wwol X wwyeg 43)dnoy 3)q1x3l4 8t 5
D A
““““ o A
%Hm m " " " o~
\\\\\\\ 2 “ “ N | M
D A
[ [l 1 1 /{\
g I w1 8 ! ! ¥y

6.5

LL*SW




2 _ 4 _ € 0 Y _ g l 9
9L 40 Gl L3S | ERAS 210Z-1-/ Q3II00W
SYILINTTIN NI 34V SNOISNIWIA 1TV 2L02-L-L  NMvda L0¢ LHYUIHALOD @
Buijuno pue Jojoly Jaddais Y X304 NILYVYW LUNO| JOJO J3dd3ls
0509-INJ Y3GWNN 133r0dd | 3ZIS A9 Q3NDISIA
M3IA SPIS

J9{N0y "J'N')

123rodd dOHSMYOM 3WOH

‘AT XX3od4

wwgl X wWwvyg'9 J31dno) 3)qixal4

5¢
ol
YE'9

Y
A

MIIA SPIS

5
E'9

kA

ol

a2

oLy

Mmaip do|

85
L'

v
A

Jojoly J3ddals vz09-9/HOAY

M3IIA LU0

LY

95

789
L'8E

(@D

@/

L'

295

74

9L

A |

LY

95

85




L I

4

9

9L 40 9L 133HS | 0Ll 31v3S

ZL0Z-L-1  (0313100KW

SYILIWITIIW NI 34V SNOISNIWIO 11V

ZL0Z-1-1 NMvyd

SM3|A UOI}BA3|]

0509-2NJ 439WNN 133rodd

v
3zIs

XM3049 NILAVW
A9 03INDIS3a

494N0yY "J'N')

1233rodd dOHSMHOM 3WOH

‘AT1'@ XX3049

g9

]
=
o
11
®

T
°
|
o
I
°
T
°

0E8

L0 LHDIFYALOD

[
<
o
T
°
T
°
T
o
T
o
T
°

048

il

1L T R T




NOTES




Other DIY Project’s

CNC Maxi Router

CNC Router 6050

Plasma cutter coming soon




Martin Broekx
PO Box 115
Crystal Brook
South Australia

Phone (61)08 8636 2156
Mobile 0418 805 008
pbroekx@westnet.com.au



mailto:pbroekx@westnet.com.au�

	Page 01
	Page 02
	Page 03
	Page 04
	Page 05
	Page 06
	Page 07
	Page 08
	Page 09
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22

